1) Gib die ersten 5 Folgeglieder an
a) a, =2n*+1

a;=2-1*+1=3
a,=2-2°+1=9
a;=2-3+1=19
a,=2-4°+1=33
as=2-5°+1=51
b) ay =2 A1 = 20,

a;=2-2=4
a,=2-4=8
a;=2-8=16
a,=2-16=32
a;=2-32=64

2) Berechne die Grenzwerte der Folgen

3
a) a, =~
3 3
lima, =1lim —=—=10
n—oo n—-oco N (0.0]
__3n?+2n-1
b) n = n?-4n+1
2 1
y g -1 3+g—g7_3+0—0_3
n1—>n<}oan_nl—r>£10n2—4n+1_n1—>n<}°1_é+i_1—0+0_
n - n?
2n-5
c) a, = 1
Y _ Zn—5 o
R
3n*+2n-8
d) n = 3nt—4n-7
2 8
po o M H2n—8 3+5?jg_3+0—0_1
now M nSe3nt—4n—7 now, 4 7 3-0-0
n3 n*
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